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FlexPDFE5 whitepapers

1.1 Problem descriptor [ 3dfieldsla.pde ]

ooboooooooooon

TITLE
>Two Point Charges of Different Signs’ { 3dfieldsla.pde }

000000 3000000000000000000000D0000 Cartesian2[T]

COORDINATES

Cartesian3

000000000000 000000000U00000000 EQUATIONS DO DODODOOOOO
DEFINITIONS OO OODOOOOO0OO0OO0O0OO0OCOOO0OOO0O0OO0O000O0

DEFINITIONS
L=1.0 d0 = 0.5 g = 1e-10
epsO = 8.85e-12
c = 1/(4*PI*eps0)
U = —gxc/sqrt(x"2+(y+d0) "2+z~2) + g*c/sqrt(x~2+(y-d0) "2+z"2)
{ Electrostatic potential }
Ex = -dx(U) Ey = -dy(U) Ez = -dz(U) { Field components }
E = -grad(U) Em = magnitude(E)
divxy = dx(Ex) + dy(Ey)

00000 extrusion 00 0000000000000 OSurfaceDO00O00000O0O000O0OLayer00O
goboooooooobooooooodoon z0000000000000O0C0000O0O000OCO000
gooo

EXTRUSION { Extrude a cube through the (x, y) plane }
Surface ’bottom’ z = -L { Limiting surfaces }

Surface ’top’ z = L

OO0 baseplane 00 100 2000000000000000000000 baseplaned 0 2000000
000000 -1<z2<10000extrude0000000O0OOOO

BOUNDARIES
Region 1
Start(-L, -L) { Trace outer boundary of base plane }
Line to (L, -L) to (L, L) to (-L, L) to Close
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goboooooooooocoooo

PLOTS
Grid(x, y, z)
Contour (U) painted on
Contour (U) painted on
Contour (U) painted on

Vector(E) norm on z =

Vector (E) norm on z

Elevation(Ex, Ey, Ez)

Contour (Ez) painted on z
iy

Contour (div_xy) on z =

Contour (div(E)) on z =

END

1.2 0O0OO

(1) Grid(x, y, 2z)

0
1

.0

0.3
1.0

from (0, -L, 1) to (0, L, 1)

1.0 Report(Val(Ez, 0, 0.84, 1))

FlexPDEOOOOOOOOO 3000000000000000O00O0O

Two Point Charges of Different Signs

XY, 2
(-3.98.-0.6, 30.)

14:01:31 8/28/08
FlexPDE 5.1.0

exportla: Grid#0 p2 Nodes=11342 Cells=7319 RMS Eir=1.
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(2) Contour(U) painted on z = 0

00 =000000000000U0UOCOOOODODOO(0,0.5,0),(0,—0.5,000000 000000000
obooooooooobooobooooboooooooOoooOooOooboOooo

Two Point Charges of Different Signs 14:01:31 8/28/08
. . . I I L L FlexPDE 5.1.0

0.9-] L onz=0

130.
120.
110.
100.

0.6

80.0
70.0
60.0
50.0

0.3

40.0
30.0
20.0
10.0

-10.0
-20.0
-30.0
-40.0
-50.0

-0.3

069 70,0

-80.0
-00.0
-100.
-110.
-120.
-130.
-140.
-150.

-0.8+

exportla: Grid#0 p2 Nodes=11342 Cells=7319 RMS Eni=1.
Integral= 0.011381

(3) Contour(U) painted on z = 0.3

z=030000000000000000V000000000DODO0O0O0OO00ODOO0ODOOOOOODO
goooooboboo

Two Point Charges of Different Signs 14:01:31 8/28/08
. . . I I L L FlexPDE 5.1.0

0.9-] L onz=03

240
210
1.80
1.50

0.6

0.90
0.60
0.30
0.00
-0.30
-0.60
-0.90
-1.20
-1.50
-1.80
-2.10
-2.40

0.3

-0.3

-0.67

-0.8+

exportla: Grid#0 p2 Nodes=11342 Cells=7319 RMS En=1.
Integral=-7.871901e-6
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(4) Contour (U) painted on z = 1.0

0000 (3) 0000000000000 00O00000DO000O0DO0ODO0O0DO0O0ODO0O0DOOODODOO

Two Point Charges of Different Signs 14:01:31 8/28/08
. . . I I L L FlexPDE 5.1.0

0.9-] onz=10

033
0.30
0.6 0.27
0.21
0.18
0.15
012
0.09

0.3

0.03

0.00
-0.03
-0.06
-0.09
-0.12
-0.15
-0.18
-0.21
-0.24
-0.27
-0.30
-0.33

-0.3

-0.67

-0.8+

-0.8 -0.6 -0.3 0. 0.3 0.6 0.8
X

exportla: Grid#0 p2 Nodes=11342 Cells=7319 RMS Enn=1.
Integral=-3.122707¢-6

(5) Vector(E) norm on z = 0

00 =00000000 FOOOODOOOOOOOOOO0OOO0OOOnermO0000O0O0OO0OOOODODODDOO
gooooooooobobobobbooooooobobbobobbboboooooooLobLDbobbbbbog
gog

Two Point Charges of Different Signs 14:01:31 8/28/08
L L 1 FlexPDE 5.1.0
E
1. S onz=0
3.00
-
2.40
210
0.5 L 1.80
: i )| i) 1.50
s s RO 1.20
S ] R N R O RS S .
LA L IS S R A R AU 0.90
v A B A RN NN, 0.60
DLEER L il BRI SRR 0.30
AN Y RN ARAENRRRL A AR 0.00
B 04 Sty
L WL fole B3
RS S L A SIS IS 7Y,
R R RS B B S S R AR
SNANNNNNNNNNNSNNNNV] I ity
T B i o
R i i R R ML PR i i
e T R | e e o
0.5 NSNS A e r
AR ASSRS Y | (AR
fromame BRP LA Rt -
L e 2 27 LA AN e
e 7 T D e
et o 2 P E e 1
et A E PSS PRSP
DR A 3 NN T
[t 2 2 ; ; § } Rt ——
1.4 =
T T T T T
-1 -0.5 0. 0.5 1
X

exportla: Grid#0 p2 Nodes=11342 Cells=7319 RMS Eni=1.
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(6) Vector(E) norm on z = 1.0

00 >=100000 E000ODOODOOOOODODOODO(0,0.84,1)00000000000O(0,-0.84,1)
00000000000 00O000oo00o8400000000000 elevationDOOOOOOOOOO
ooo

Two Point Charges of Different Signs 14:01:31 8/28/08
1 1 1 FlexPDE 5.1.0
E
L S ST l 7 e ] r onz=10
i ISR NESUARIPIVIL RN\ (0 S S |
— ~ 1 I 0.65
R A
D e B LR .E 0.60
R g g Ll B A N | 0.55
A A A I T N B S R T A |
b oo T % R AR 0.50
] (i T R RS N L 0.43
05 LSS L LTI E LT OOV
LTS i AL AN AN AN NN 0.40
RN PR RRASRE RN 035
AT PRV IANAANNND
/i////////fi/a;l PURVEANNN NN 0.30
IR AEE RIS TEE RN, 0z
HJ'J'JJ/’HJ'? i 0.20
IRERE] 0.15
- 0. [ | r 0.10
| 0.05
Ty 0.00
i t IRERRERREREN
\\\\\\\\\\\{H IEEEEREE YN
NS
] ARNNANLANARLLL A ;/f/////////u/z/ L
03 ARAALNENNANLNY LY AR
R RV
S SOV IV IR C I LT EL Pl
ORI R R R RNV Y Y P& A
SRR N NN N R i
N S N O | i
N
[ o | e b
e 2 A T S T ol
. Py L

exportla: Grid#0 p2 Nodes=11342 Cells=7319 RMS En=1.

(7) Elevation(Ex, Ey, Ez) from (0, -L, 1) to (0, L, 1)

0oooo (0,y,1)00000 E,,E,,E,000000000000000E, 000000000000
E,0y=40840000000000000000 (0,0.84,1),(0,—-0.84,1) 0 2000 E, = E, =00
0000000000000000000000 E,00000000000000000
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Two Point Charges of Different Signs

0.6

Ex

-0.6

exportla: Grid#0 p2 Nodes=11342 Cells=7319 RMS En=1.
Integral(a)= 0.000000 Integral(b)= -0.610942 Integral(c)= -4.224499¢-6

14:01:31 8/28/08
FlexPDE 5.1.0

Ex
from (0, -L, 1)
to (0. L, 1)

a Ex
b:Ey
¢ Ez

(8) Contour(Ez) painted on z = 1.0 Report(Val(Ez, 0, 0.84, 1))

00-=1000 E,00000000000D00000O0OReport0000000OOODOODODO(0,0.84,1)

oo00o0oo E,00005700000000000O

Two Point Charges of Different Signs

0.9

0.6

0.3

-0.34

-0.6

-0.94

T T T T T T T
-0.8 -0.6 -03 [t} 0.3 0.6 0.3

X

exportla: Grid#0 p2 Nodes=11342 Cells=7319 RMS Eir=1.
Val(Ez. 0, 0.84. 1)= 0.570736 Integral=-1.306021e-5

14:01:31 8/28/08
FlexPDE 5.1.0

onz=10

0.65
0.60
0.55
0.50
0.45
0.40
035
0.30
0.25
0.20
0.15
0.10
0.05
0.00
-0.05
-0.10
-0.15

-0.25
-0.30
-0.35
-0.40
-0.45
-0.50
-0.35
-0.60
-0.65
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(9) Contour(divxy) on z = 1.0

O0z=100000O aEm—l-a;zyDDDDDDDDDDDDD ooooOoDODOO

ox
Two Point Charges of Different Signs 14:01:31 8/28/08
s - \ s s s s FlexPDE 5.1.0

div_xy

0.9 L onz=1.0
max 1.66
q: 1.60
P 1.40

0.6 o 1.20
n 1.00
m 0.80
1 0.60

0.3 r k 0.40
j 0.20
1 0.00
h -0.20

- 0 L ¢ 0.40

f: -0.60
€ -0.80
d -1.00
€ -1.20

037 [ b -1.40
a: -1.60
min -1.66

-0.64 r

0.9 F

exportla: Grid#0 p2 Nodes=11342 Cells=7319 RMS En=1.
Integral=-3.537331e-5

(10) Contour(div(E)) on z = 1.0

DO0000 2=100000 div(E) =22+ 5% 4+ 9200000000 0000000

z

Two Point Charges of Different Signs 14:01:31 8/28/08
1 1 . 1 1 1 1 FlexPDE 5.1.0
div(E)
L onz=10
ma; 6.60
A 6.50
L z: 6.00
3 5.50
x 5.00
W 4.50
v 4.00
t 3.00
s 250
i 2.00
= L q 1.50
P 1.00
0 0.50
n 0.00
m -0.50
[ 1 -1.00
k -1.50
i -2.00
1 -1.50
r h -3.00
M -3.50
f -4.00
€ -4.50
L d -5.00
© -5.50
b -6.00
: : : : ; ; ; a: 650
0.9 06 03 [ 03 06 08 mm -6.60
X Scale = E-16

exportla: Grid#0 p2 Nodes=11342 Cells=7319 RMS En= 1.
Integral=-8.720421e-18
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2 Cese2-000000003000000

000 zyO0OO0O0O0 3000000000
00000D0ooUooooooooo (0,0.5),

(=05,0) 0 200 +¢ 000000000 T i:::::h
(0,05 000 —¢00DO000O00OO0O0OO _ [
00000000000000 ¢g=1e1000
000 z U -
0000000000000 00000000 ¥ .
000000000000000000000 ' #ﬂﬂ,ﬂﬂJ
0000000000000 A

1
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i Sy o

2.1 Problem descriptor [ 3dfieldsib.pde |

Casel 00000000 0ODO 3dfieldsla.pde 000000000 OOOOOODOO

ICICINL)S,
’Three Point Charges’ { 3dfieldsib.pde }

DEFINITIONSOOOO UODOOUODOOOOODOOODODOO

DEFINITIONS

U = -g*c/sqrt(x"2+(y+d0) "2+z"2) + g*c/sqrt(x~2+(y-d0) "2+z"2)
+ g*c/sqrt ((x+d0) “2+y~2+z"2)



FlexPDE5 whitepapers

EXTRUSION, BOUNDARIES OO OOOOOOOO0OOOOPLOTSOOOOOOCOOODOOOO

PLOTS
Contour (U) painted on z = 0
Contour (max(min(U, 10), -10)) on z = 0
Contour (U) painted on z = 0.3

Contour (U) painted on x = 0

Contour (U) painted on y = 0
Contour (U) painted on z = 1.0
Contour (U) painted on y = x

Vector (E) norm on z =

o O <

Vector (E) norm on z

Contour (Em) painted on z = 0.3

END

22 DO0OO

(1) Contour (U) painted on z = 0

00 =000000000U0U0000000000O0O0O0000O0OOOOOOOO0OODODODOOOOO

gogboooobooboobboooboon

Tlree Point Charges

0.9

0.6

0.3

-0.3+

-0.6

-0.84

exportlb: Grid#0 p2 Nodes=11342 Cells=7319 RMS En= 1.
Integral= 6.023307

10

onz=0

16:16:27 8/29/08

FlexPDE 5.1.0

220.
200.
180.

140.
120
100.
80.0
60.0
40.0
20.0
0.00

-20.0
-40.0

-80.0
-100.
-120.
-140.
-160.
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(2) Contour (max(min(U, 10), -10)) on z = 0

vooooooooooooo0ooooooooo0ooooo0oo0o0oooooooooooooooDoon
oobooooood

Tlree Point Charges 16:16:27 8/29/08
. . . L . . . FlexPDE 5.1.0
max(min(U, 10), -10)
08 L onz=0
max 10.0
u: 10.0
t: 9.00
067 ros 8.00
I 7.00
P 5.00
03 r o 4.00
n 3.00
m 2.00
1 1.00
= 0. L k 0.00
] -1.00
1 -2.00
h -3.00
€ -4.00
037 I -5.00
e: -6.00
d: -7.00
o -8.00
-0.6- r b: -9.00
a: -10.0
min -10.0
-0.84 r

exportlb: Grid#0 p2 Nodes=11342 Cells=7319 RMS En= 1.
Integral= 5.686654

(3) Contour (U) painted on z = 0.3

00 =030000000000000000000000000D0000O0DOOOODOOO

Tlree Point Charges 16:16:27 8/29/08
. L FlexPDE 5.1.0
u
0.9-] L onz=03
3.60
3.30
0.6 - 3.00
2.70
2.40
2.10
1.80
03 150
1.20
0.90
0.60
s 0.7 r 0.30
0.00
-0.30
-0.60
034 L -0.90
-1.20
064 F
05 r

exportlb: Grid#0 p2 Nodes=11342 Cells=7319 RMS En= 1.
Integral= 4.570945

11
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(4) Contour (U) painted on x

0

y-- 0000000000 0000000000000 000000O0y0O0O0000 2000000000
ooooooooooooooooooo 200oooooooooOoOoOOOOOOOOOOOOODODOO

gogoooobooboo

Tlree Point Charges

0.9

0.6+

0.3

-0.3

-06

-0.84

exportlb: Grid#0 p2 Nodes=11342 Cells=7319 RMS En= 1.

Integral= 4.098972

(5) Contour (U) painted on y = 0

onx=0

16:16:27 8/29/08

FlexPDE 5.1.0

110.
100.
90.0
80.0
70.0
60.0
50.0
40.0
30.0
20.0
10.0
0.00

-10.0
-20.0
-30.0
-40.0
-50.0

-70.0
-80.0
-90.0
-100.
-110.
-120.

x-z0000000000U0O0000000000O0000O0DODO0O0 (-0.5,00000000000000

Tlree Point Charges

0.9

0.6+

0.3+

-0.3

-06

-0.84

0.9

exportlb: Grid#0 p2 Nodes=11342 Cells=7319 RMS En= 1.

Integral= 5.958831

-0.6

-03

0
X

03

0.6

12

09

ony=0

16:16:27 8/29/08

FlexPDE 5.1.0

E

60.0
37.0
4.0
51.0
48.0
45.0
42.0
39.0
36.0

30.0
27.0
24.0
210
18.0
150
12.0
9.00
6.00
3.00
0.00
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(6) Contour (U) painted on z = 1.0
OO0 z=1000000C0OUOOOOOOODOODDODOO

Three Point Charges 16:16:27 8/29/08
. ! FlexPDE 5.1.0

0.9 L onz=10

1.05

0.6

0.37

-0.34

0.25

-0.6

-0.8

exportlb: Grid#0 p2 Nodes=11342 Cells=7319 RMS En=1.
Integral= 2.726362

(7) Contour (U) painted on y = x

O0y=200000000000000000y=20000000000U0000000020000
goboooooboooooboboooboooooobOoooDooo

Tlree Point Charges 16:16:27 8/29/08
s ! L L 5 FlexPDE 5.1.0

omy=x

2.60
2.50

2.30
220
210
2.00
1.90
1.80
1.70
1.60
1.50
140

0.5

147

1.20
110
1.00
0.90
0.80
0.70
0.60
0.50
0.40

-0.5

T T T T T
-15 -1 -0.5 0 05 1 15

0.707107 X+ 0.707107+Y

exportlb: Grid#0 p2 Nodes=11342 Cells=7319 RMS En= 1.
Integral= 5.658025

13
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(8) Vector(E) norm on z = 0

00 =00000000 EFOODOOODOODODOOO000000O0OnermO0000O0DOODODODOOOOOO
god0o0oo0ooooo0o0ooo0ooo0o0ooooooooo0oooooooooooooooooooo
Oooo

Tlree Point Charges 16:16:27 8/29/08
L L L . . FlexPDE 5.1.0
E
1 SRR roomz=0
R R ¥
R R
N 3.90
R AR R AN .E 360
P RN R RN R N
RIS LN 3.30
SO RN R | 3.00
N RN IR BN -2
I RN SNSRI i i
NN M
NN A N AT | NI T 2.40
SN 2.10
~t -
NI 180
o NN R B Ao 1.50
P VLN WL 1.20
pu SRR I -
. | BN N 0.90
= + pu S L
L PN ISR —— \\ \\\\\ 0.60
e A R B 0.30
St A I BN 0.00
ZZ AN <
e % RN Seale =E4
s
i abl AN RN L
03 Iy IRRN s
! AT
yianne
\§\\\.\“""§;
PRy
AR o
R
NN RN
4 LT L

X
exportlb: Grid#0 p2 Nodes=11342 Cells=7319 RMS En= 1.

(9) Vector(E) norm on z = 0.3
00 2=030000000 E0OOOOOODOOOOOODOO (8)DO0O0DO0OO0DOODOOODOOD
goobobobooooooooobogbobobobobooooboooboboboboo

Three Point Charges 16:16:27 8/29/08
1 1 1 FlexPDE 5.1.0
E
[ I e S A SRR B SRR r s R N L
PR AR R AR NAA NN AL B Pt e
S LA e -
RS R R N R RS G R e P 7.50
I R R T D e 7.00
R R I I e .
AR RN RRNE S N e ] 6.50
R N N N B e P | 6.00
N T -
0.5 B L — 5.50
QEQQ‘_&QQQQQQ::kf, e | 5.00
A 150
N::::::::Q § B \W\f ' L R R R 4.00
Ty \ bl /\\J\ & T 3.50
e L T Y 300
P RPN E
h ] , SRR 25
- L S st B R R A S S S SRR r 2.00
Co N R T N Lo
b N N Wy 1.00
b NN 1 0.50
A NAANY i "
sLsldly i SOV LA RS L 0.00
YRR S SRR AR R
Vi PR SN lrreeeiars v il
A R A AR AR
R Wil
RN e e ]
LR R ety § Iy M A
N T ] N T
RISl B B S
RNy § B 5 S SN SN —-—————"
ER RN A tE PRI o
o \\ BN A } } e i i
T T T T T
-1 05 0 05 1

X
exportlb: Grid#0 p2 Nodes=11342 Cells=7319 RMS En= 1.

14
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(10) Contour(Em) painted on z = 0.3

0000 (90UOoO0O0O0O00O0D E00000D00D0OO0DODO00O00DD |P|00000O00O0O0O0O0ODOOOO
goboooooooooocooboono

Tlree Point Charges 16:16:27 8/29/08
L L L ] L L L FlexPDE 5.1.0

Em

08 omz=03

10.5
10.0
0.6+ 9.50
8.50
8.00
7.50
7.00
6.50
6.00
3.50
5.00
4.50
4.00
3.50
3.00
2.50
2.00
1.50
1.00
0.50
0.00

0.3

-0.3

-0.6-

-0.84

exportlb: Grid#0 p2 Nodes=11342 Cells=7319 RMS En= 1.
Integral= 13.93756

15
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3 Case3-0J000O0O00nOnd

000100 5em 00000000
000000 2cm000 4mm 000
00000000000000000 0.05
00000000000000000
00000 1VODDOO000000
00000000000000000
000000 00000000000 7 000~
0ooo

A

-y 0000000000 2000

-0.05 =l
Oextrude 0000 30000000 0.05
0000000000 D0OOoOoooOo 000 Tons
000000000 O00OoOooo y 0.00
005 _gos L
0oO00o0o0oDOoOoooon OoooOoooooo

Region ‘domain’ e
Layer “air2

Region

L I S B ! '
coin Layer ‘'metal

Layer "air 1’

3.1 Problem descriptor [ 3dfieldslc.pde |

gboobooboobooboo

TITLE
’Coin in a Metal Box’ { 3dfieldslc.pde }

16
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oobooooboooobooooobooooooo

SELECT

Errlim = 1e-3

000030000000000000000000000000 Cartesian2[M

COORDINATES

Cartesian3

gooobooboooo

VARIABLES
U { Electrostatic potential }

000000000000000000000000000000000000000000000 2L(m)0
0000000 re(m)0000 2de(m) 0000000

DEFINITIONS
L=0.06 r0 = 0.02 dO = 2e-3
U0 = 1.0
Ex = -dx(U) Ey = -dy(U) Ez = -dz(U) { Field components }

E = -grad(U) Em = magnitude(E)

30000000000000000000000000D000D0DO00OD0 GBOR2ODDOOODOOO

EQUATIONS
div(grad(U)) = 0

00000 extrusion 00000000000 O0O0COOOSurfaceOOOO0O0O00O0O0O0O00OOLayer0O
ooboooooooobooooom

EXTRUSION { Parallel surfaces }
Surface ’bottom’ z = -L
Layer ’air 1’ { Layer below coin }
Surface ’lower’ z = -dO
Layer ’metal’ { Layer containing coin }

Surface ’upper’ z = dO

Layer ’air 2’ { Layer above coin }

Il
=

Surface ’top’ z

17
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BOUNDARIES OO DOOOOOOO base plane 0000 0000000000000 0OOOOODODOOOOO
OMO000 base plane 00 000000000000 O00O0 20000 extrude000000DOO0O0ODO
base plane 00 0000000000000 extrude0 00 3000000000000000D00O0O0OO
oboooooooooboooboooboooDn surfaceOD0O0O00ODOOO0OOOOOOODOOOOOOOO
000000000000 00excludeD 000000000 coin’ J0000 voidOOODOODOOODOO
ooboooooooooon

BOUNDARIES
Surface ’bottom’ Value(U) = 0
Surface ’top’ Value(U) = 0
Region ’domain’ { Full solution domain }
Start(-L, -L) Value(U) = 0 { For all four faces }
Line to (L, -L) to (L, L) to (-L, L) to Close

{ Exclude volume }
Uo
Uo

Region ’coin’

Surface ’lower’ Value (U)

Surface ’upper’ Value(U)

Layer ’metal’ Void

Start (r0, 0) Layer ’metal’ Value(U) = U0 { Coin }
Arc(Center=0,0) Angle = 360 to Close

gogbbooobooboooboon

Vector (E) norm on x =

0

PLOTS
Grid(x, y, z)
Contour (U) painted on z = 0
Surface(U) on z = 0
Contour (U) painted on z = 2%*d0
Contour (U) painted on z = 0.5%L
Contour (U) painted on x = 0
Vector(E) norm on z = 0.5%L
Contour (Em) painted on x = 0

Elevation(U) from (-L, 0, d0) to (L, 0, dO)

END
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32 0DO0OD0O

goooooo3oooooooooooooooooooooooooocoooooooooooooon
gobodobooooboooooooooboooobooooooooooooooooooooobooon
00000000000 ControlstID Domain ReviewOD O O OO ODOUOOOOOODOOOOOOOOOOO
gobooooooooobooooobo

(1) Grid(x, y, 2z)
FlexPDEOOOOOOOOO 3000000000000000O00O00O

Coin in a Metal Box 12:53:41 9/2/08
FlexPDE 5.1.0

LY. 2
(-0.2,0.48, 30.)

exportle: Grid#3 p2 Nodes=27600 Cells=18876 RMS Err= 9.2e-4
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(2) Contour (U) painted on z = 0

O0z=000000000000000000

Coin in a Metal Box

e L L

exportle: Grid3 p2 Nodes=27600 Cells=18876 RMS Err=9.2e-4
Integral= 1.809921e-3

(3) Surface(U) on z = 0

onz=0

12:53:41 9/2/08
FlexPDE 5.1.0

0000 (2)000DL0000bbO000DO00DDODO0O0DODODOoO0DOO

Coin in a Metal Box

1.05

00

exportle: Grid#3 p2 Nodes=27600 Cells=18876 RMS Err= 9.2e-4
Integral= 1.809921e-3

20

u

onz=0

12:53:41 9/2/08
FlexPDE 5.1.0

1.05
1.00

(-0.17,-0.41, 30.)
0.95
0.90

E 0.85
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(4) Contour (U) painted on z = 2%d0

0000000 z2=4dy0000000000000000 2=2dp0000000000000O0O0O0OUDO
gooolooooooooooobooo

Coin in a Metal Box 12:53:41 9/2/08
o2 L L L FlexPDE 5.1.0

u
on z=2%d0

0.95
0.90
0.85
0.80

0.75
0.70
0.65
0.60
0.55
0.50
0.45
0.40
0.35
0.30
0.25
0.20
0.15
0.10
0.05
0.00

exportle: Grid#3 p2 Nodes=27600 Cells=18876 RMS Err= 9.2e-4
Integral= 2.8015035¢-3

(5) Contour (U) painted on z = 0.5%L

00000 baseplane : =0000000000000000000000U0 00000 032000000
gooo

Coin in a Metal Box 12:53:41 9/2/08
o2 L . L . L FlexPDE 5.1.0

u
enz=0.5"L

exportle: Grid#3 p2 Nodes=27600 Cells=18876 RMS Err= 9.2e-4
Integral= 1.081665¢-3
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(6) Contour (U) painted on x = 0

O0z=00000000000000

Coin in a Metal Box 12:53:41 9/2/08
o . . . FlexPDE 5.1.0
U
onx=0
] [ 1.00
0.95
0.90
0.85
0.80
2.4 o 0.75
0.70
0.65
0.60
0.55
0.50
N o r 0.45
0.40
0.35
0.30
0.25
0.20
21 r 0.15
0.10
0.05
0.00
-0.05
4 L
T T T T T
4 -2 (1] 2 4
v e-2
exportle: Grid3 p2 Nodes=27600 Cells=18876 RMS Err=9.2e-4
Integral= 2.107955¢-3
(7) Vector (E) norm on z = 0.5%L
00 =05L0000000 FOOODODODOODOODO
Coin in a Metal Box 12:53:41 9/2/08
2 6 L L FlexPDE 5.1.0
E
onz=0.5L
ARSI HEE 227
Thoasssiaan i RARRA RV
P s NN R RS § ISR AN AN A L
s aRANANY 1 PELE s s o
SRR AARRRN B L]
P S S M ! L PEP S
P RS N AR (R84 Y SN
e R LA R R rs —
SR I s
2 I LNNN N ; e r
e B W Iy P ]
B R I A g et o
PN SANEN AL e,
B B N
PR NN e R
T T T T T N W LTI T
ol 0.4 - r
L T e I
T A T B i
N, B VYR EERNEN A
1 B B R T ]
- e viiluns N
| e W
s B Jrunt RSN v
N i BN o]
[ LA Sl N |
iy, i v NN
A F f t } R |
A AR Ll
4] T LTI L
. AEEIETT i T
e DHIRR
"/HHH!H’I ?}EHHH\\
IRRRERRERERERN! IEERRERRER RN
-6, T T T i ;
-6 -4 2 0 2 4 5
e-2

exportle: Grid#3 p2 Nodes=27600 Cells=18876 RMS Err= 9.2e-4
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(8) Contour (Em) painted on x = 0

O0z=000000000 FOOOOOOODOOOOOODOOO0OOO0OO0O0ODOO00DODOOO0O00OOO0OO

Coin in a Metal Box 12:53:41 9/2/08
e2 1 1 1 FlexPDE 5.1.0
Em
onx=0
4 L
2.4 r
N 0.+ =
o L
4. =

exportle: Grid#3 p2 Nodes=27600 Cells=18876 RMS Err=9.2e-4
Integral= 0.161198

(9) Vector(E) norm on x = 0

00 =00000000 FOOOOODOOODOOODOOOOO

Coin in a Metal Box

12:53.41 9/2/08

-2 & 1 1 FlexPDE 5.1.0
E
A b4t ie b ed gy 444 st asatgy onx=0
o ey A
Tty N
leasaninnin g SRR NN 105
4. I R AR AR IR AR AR Y r .
eosmansan il RSN 100.
Tsosnan i i IR RN NP 95.0
s ooaasaa iy IR RN e
P AN A T R Lhardrirrrnn] 90.0
P I N S IR AN | 330
P BN L R SRR Lhirrzr s -
pu SRR AN Y R AR — 80.0
2.4 Pl L R PELAZIP It ] = 5.0
P UL L S PR RIS rrm e 2
b SN NN ) Yt 70.0
bu SRR NN S RN s 650
Pl DAL DA o >
o % } {f////ffﬂ_,w 60.0
P VAR D ]
55.0
N ooq ] ) E— r 0.0
F ] 45.0
A PRI 40.0
e i L ] i
M St A P | 35.0
| e PRI R 30.0
D S A A AR N NN ey |
2.4 b AN RN N AT L 25.0
[ S LT Dl
e e ILE RN 200
A 2P BH LA R 15.0
M AN D | 100
b PN LR AT R
Tl s AT LA NN 5.00
D I A P I T
-4 YA A L 0.00
AR PR SRR
el iy iyl ELVANN AN
St [REER RN
A R R R e N
-6. T T T T T
-6 -4 2 0 2 4 3

exportle: Grid#3 p2 Nodes=27600 Cells=18876 RMS Err= 9.2e-4
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(10) Elevation(U) from (-L, 0, d0) to (L, 0, d0)

oooo0000000 z2=dy0000y=000000000000000000000000000 10
goooooooooooooooooooooooooooooo

Coin in a Metal Box 12:53:41 9/2/08
FlexPDE 5.1.0

1

U
from (-L, 0, d0)
to (L, 0, d0)

a U

N
N

4 -2 o} 2 4
< e-2

exportle: Grid#3 p2 Nodes=27600 Cells=18876 RMS Err= 9.2e-4
Integral= 0.058339
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4 Cased-0000OD0O0OO

gooooOoOOO0O0O0000O000ooon
goooooooooooOooOoODODObb
lvooooooooooooooooogooo
FlexPDEO OO OOOOOOOOOOOOODO
oooooooooobooOoOooooooOoo
gooobooooobooooboooboon
oooooooon

ri = lem

ro = 0.2cm

h = 1lem
00000 extrusion OO OO0 30000
god00oo0o0oooooooobooboooon

r1

U0 lowerDOOOOOOO0OOO0OOOOOODOCOOOOOOODOCOOOOOOOODOOOODOOOO OO

gobooooboobobooobg

odb lower0OOOODOOOOO

z = max (0,

cooboooobooobooooooboooon

top

-t1 -
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4.1 Problem descriptor [ 3dfields1d.pde |

ooboooooooooon

TITLE
’Electrical Conduction in a Cone’ { 3dfieldsid.pde }

ggbobooboobobooboobboooobda

SELECT

Errlim = 1e-3

0000 30000000000000000000000000 Cartesian2[

COORDINATES

Cartesian3

gobooooooono

VARIABLES
U { Electric potential }

oobooooboooobooooobOoOoobOoOooboOoOooobooOooooOoOoOoOobOoOobobOboOooboOoOooon
0000 JOo00o00oo0oooooooooooooo GBoO3DOOODOOOO

DEFINITIONS
r0 = 2e-3 1l = 10e-3 h = 10e-3
cond = 1.0e-3 { Conductivity of silicon }
Ex = -dx(U) Ey = -dy(U) Ez = -dz(U)
E = -grad(U) Em

magnitude (E)

Jx = cond*Ex Jy = cond*Ey Jz = cond*Ez

J = cond*E Jm = magnitude(J)
rad = sqrt(x"2 + y~2) { Radius }
power = Vol Integral (Jm*Em) { Dissipation }

current = Surf_Integral(normal(J), ’top’)

3000000000000 00o000oU00o000oU0Oo0ooUoUoOO GBV3 OO OOOOOO

EQUATIONS
div(J) = 0
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00000 extrusion000000000C0OC0OO0O0O0O0O0OOODOOCODOOOOO0O0O0OOODOOOO
gboboboooboobbD’lower’ D0DOO0O0OO0O0D0OO0DOO0DO0 radODOOOO DEFINITIONSUODOOOOO
gobodooboooobooooobooo-rooooooo

EXTRUSION
Surface ’lower’ z = max(0, h*(rad-r0)/(r1-r0))
{ Flat base plus cone }
Surface ’top’ z = h { Flat upper surface }

BOUNDARIES OO O ODOOOO base plane 00000000000 ODDOOCOOOOOODODODODODO Base
plane0 00000000000 ODOOOO0DOODOOOOOODOO roOO0ODODOOOODODODOOOODODOOD
gboobOd’lower’ JOUOOOOOODOODOODOODODODOO

BOUNDARIES
Surface ’top’ Value(U) = 1.0 { 1 volt applied on top }
Region ’domain’ { Total domain }

Surface ’lower’ Natural(U) = 0 { dU/dn=0 on cone }
Start(rl, 0) Arc(Center=0,0) Angle = 360 to Close

{ Extension in (%, y) }

Region ’cylinder’ { Overwrites total }
Surface ’lower’ Value(U) = 0 { Lower flat face }
Start (rO, 0) Arc(Center=0,0) Angle = 360 to Close

gobooooooooooooobo

PLOTS
Grid(x, y, z) Report(power) Report(current)
Contour(U) on x = 0
Vector(J) norm on x = 0
Elevation(tangential(E))
Line Integrate from (0, r1/2, h) to (0, 0, 0) { Voltage }

END
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42 0000

(1) Grid(x, y, z) Report(power) Report(current)

FlexPDEODODOOOODOOO 300000000000000000OReport 00000

L :/ \J| - |E| dV
1%

IQ:/J-ndS
S

000 20000000000000000000000SO0000OO0O0OODOOO tep’0OOOOO
0J00@mL 0000000000000 0o0o0 L, 0000000000000 O0oOooOooOooOgn
00100000 ooooo L3+, =000000000000000000000000O00O00

Electrical Conduction in a Cone

14:38:24 9/4/08
FlexPDE 5.1.0

XV, Z
(-0.03,-0.08, 30.)

0.01

~

exportld: Grid#2 p2 Nodes=6719 Cells=4323 RMS Err= 5.8e-4
power= 5.112365e-6 current= -5.078884e-6
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(2) Contour(U) on x = 0

O0z=0000000000D0O0O0O0C0DOOCOOOOOOOOOOOOOOOOOOOOODOO

Electrical Conduction in a Cone 14:38:24 9/4/08
3 L L L 1 1 FlexPDE 5.1.0
15 r U
onx=0
max 1.00
12 - t 1.00
s 0.95
T 0.90
5.4 r
n
m
1
[l r k
N ]
i
h
2 r g
f:
€
d:
C:
0 oo
a
min
3 =
E T T T T T T T
K] £ -3 0 3 § 9
¥ 3

exportld: Grid#2 p2 Nodes=6719 Cells=4323 RMS Err= 5.8¢-4
Integral= 9.838260¢-3

(3) Vector(J) norm on x = 0

00 z=00000000000000J0O00000000O0DOOOOOO0OOOODOOOOOOOOO
gooo

Electrical Conduction in a Cone 14:38:24 9/4/08
o3 . . . . . FlexPDE 5.1.0

15.- F onx=0

0.65
0.60
0.55
0.50

-

0.40
035
0.30
0.25
0.20
0.15

0.05
0.00

e-2

exportld: Grid#2 p2 Nodes=6719 Cells=4323 RMS Err= 5.8¢e-4
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(4) Elevation(tangential(E))

Line_Integrate from (0, r1/2, h) to (0, 0, 0)

{ Voltage }

OO’top’ 00 1000000000000 OOO0OOODODO EOOOODOOOO elevationO0OOOO0O
0000000000000 00000000000000FlexPDECOOODDOONO 0.999919000000

010000000000000000000d

Electrical Conduction in a Cone

250.

200.

150,

(E)

tangential

100,

50.

0 2 4 3 g 10
Distance

exportld: Grid#2 p2 Nodes=6719 Cells=4323 RMS Err= 5.8e-4
Integral= 0.999919

30

e-3

14:38:24 9/4/08
FlexPDE 5.1.0
tangential(E)
from (0, 11/2, )
to (0, 0,0)

a: tangential(E)
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5 Caseb-300000

goboooooooocooooocoooobooooo
O000O00O00OD0O0O0OO0OO FexpDEODDODOO

00000000000000000000000 1“</->
00 GBO07 00000O0OOOOOOD 3000 S

o0o0odoodo 100 2m 0000000000
z " =
A /,J
0 K
¥ Ay ° y

5.1 Problem descriptor [ 3dfieldsle.pde ]

goobobobobooon

IEICIE LD,

’Glass Block in a Parallel Field’ { 3dfieldsle.pde }

gogbobooboobbooboobooobda

SELECT

Errlim = 1le-4

0000 3000000000000 0DO0DbO0O000D00ODOODn Cartesian2[d

COORDINATES

Cartesian3

goboooooooo

VARIABLES
U { Electric potential }
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0000000000000 0000000 0000000000000 Opermittivity 00 O O Odielectric
displacement 00 0000000000000 O0O0OOOODO

DEFINITIONS

L=1.0 Lx=0.1 Ly =0.05 Lz

epsO = 8.854e-12

epsr

eps = epsr*eps0

EO = 1.0 D0 = epsO*E0

E = -grad(U) Em = magnitude(E)
D = eps*E Dm = magnitude(D)

= 0.03

{ Permittivity of vacuum }
{ Relative permittivity }
{ Permittivity }

{ Far field }

{ Dielectric displacement }

gooooooooooooooooooooooOooOoOoOoOoOoDoOOoDOoOoDOooOpDoobD oooDOoOo
0 GB007 O O ™

EQUATIONS
div(D) = 0

Extrusion 000000000000 OCO0ODOOCO0ODOOO0ODOOO00ODOO0O0OOO0O00OOoOoOooDooooDO
goobobobooooooobooboboo

EXTRUSION { Parallel surfaces }
Surface ’bottom’ z = -L
Layer ’air 1’ { Layer below block }
Surface ’lower’ z = -Lz { Lower face of block }
Layer ’glass’ { Layer containing glass }
Surface ’upper’ z = Lz { Upper face of block }
Layer ’air 2’ { Layer above block }
Surface ’top’ z = L

BOUNDARIES OO DOOODOOOO base plane 0000 0000000000000 OOOOOOOOODOO
goobobobooooooboobobobooooooobooboboo

BOUNDARIES
Surface ’bottom’ Natural(U) = DO { Since D=-eps*grad(U) }
Surface ’top’ Natural(U) = -D.O
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OO0 base plane 0000 0000000000000 00O00O0ODO0O000000 extrudedO0O 3000
gobooooooooooooboooobboooboooooooooboooDboooobooboooboooon
00000o00Doo0o0o00U00ooDoo0O0O000O00n Natural(U) = 00000000OO0OOOO
00000000 extrude 00000000000 OOOOOOOO

Region ’domain’ { Full solution domain }
Layer ’air 1’ epsr = 1
Layer ’glass’ epsr = 1
Layer ’air 2’ epsr =1
Start (-L, -L) Natural(U) = 0O
Line to (L, -L) to (L, L) to (-L, L) to Close

Base plane 00 0000000000000 00000000O0O000D0O0 extrudeO0OO0O0O0DOOOO
gobooobooooboooooooo

Region ’block’ { Redefine space }
1
7.0 { Glass block }

Layer ’air 1’ epsr

Layer ’glass’ epsr

Layer ’air 2’ epsr
Start (-Lx, -Ly) Line to (Lx, -Ly) to (Lx, Ly)
to (-Lx, Ly) to Close

gogbbooobooboooboon

PLOTS
Grid(x, y, z)
Contour (U) on x =

Contour(U) on y =

oS O O

Contour (U) on z =

0
0 zoom(-0.2, -0.2, 0.4, 0.4)
0 zoom(-0.2, -0.2, 0.4, 0.4) Report(D_0)

Vector (E) norm on x

Vector (E) norm on

»
]

Vector (D) norm on

»
]

END
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52 0000
(1) Grid(x, y, 2z)
FlexPDEOOOOOOOOO 3000000000000000O00OO
Glass Block in a Parallel Ficld 14:13:40 9/8/08

FlexPDE 5.1.0

LY. 2
(-3.98.-9.6, 30.)

exportle: Grid#2 p2 Nodes=14433 Cells=9522 RMS Enr= 4.2¢-5

(2) Contour(U) on x = 0

00 z=000000000000000000

Glass Blocl in a Parallel Field 14:13:40 9/8/08
. . . L . . . FlexPDE 5.1.0
3 u
0.9-] B L onx=0
L max 1.01
t 1.00
s 0.90
0.6+ r 1 0.80
03+ m r
m 0.30
! 1 0.20
—— k k 0.10
N - | ] 0.00
0 1 1 -0.10
- —— h -0.20
h g -0.30
f -0.40
031 Fe: -0.50
I d: -0.60
3 -0.70
° b -0.80
-06 d r a -0.90
min -0.99
c
b
0.8 a L
T T T T T T T
0.9 0.6 03 0 03 0.6 0.9
v

exportle: Grid#2 p2 Nodes=14433 Cells=9522 RMS Enr= 4.2¢-3

Integral= 0.027623
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(3) Contour(U) on y = 0

O00y=000000000000000000

Glass Blocl in a Parallel Field 14:13:40 9/8/08
! ! ! L FlexPDE 5.1.0
T u
0.9-] R L ony=0
r max 1.01
t 1.00
s 0.90
0.6 N 1 0.80
n
037 m r n 0.40
[ m 0.30
! 1 0.20
L e — k 0.10
N B L ] 0.00
0 Q 1 -0.10
X h -0.20
b & -0.30
f: -0.40
0.3 [ e: -0.50
£ d -0.60
©: -0.71
e b: -0.80
-0.6 d— a -0.90
. min -0.99
b
0.9 N L
T T T T T T T
0.9 0.6 03 0 03 0.6 09
X

exportle: Grid#2 p2 Nodes=14433 Cells=9522 RMS Err= 4.2e-5
Integral= 0.027619

(4) Contour(U) on z = 0

00 »=000000000000000000z=000000000000000000000000
gobooobooooooooooooooboooon

Glass Blocl in a Parallel Field 14:13:40 9/8/08
L L L 1 FlexPDE 5.1.0
o
0.9-] L onz=0
max 8.58
D:
C
0.6 r B
A
0.3 r
u 7.60
- 0.4 - t 7.50
‘é s 740
1 7.30
q 7.20
P 7.10
-0.37 [ o 7.00
n 6.90
m 6.80
1 6.70
-0.6 r k 6.60
i 6.50
1: 6.40
h: 6.30
054 L oa 6.20
f: 6.10
e: 6.00
T T T T T T T d: 5_00
0.9 0.6 03 0 0z 0.6 09 C 5.80
b 5.7
X a 5.60funle = E-3

exportle: Grid#2 p2 Nodes=14433 Cells=9522 RMS Err= 4.2e-5
Integral= 0.027621
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(5) Vector(E) norm on x = 0

O0x=00000000 FOODOOOOOOOOOOODOODOOOOOOODODOOOOOOOOOOOO
goboooboooooooooboooo

Glass Block in a Parallel Field 14:13:40 9/8/08
. ) . , . FlexPDE 5.1.0

1.4 S onx=0

1.30
1.25
1.20
1.15
1.10
1.05
1.00
0.95
0.90
0.85
0.80
N 0. F‘.’.ﬂ r 0.75

[ 0.70

0.65

.

0.5

0.55
0.50
0.45
0.40
0.35
0.30
0.25

-0.54

exportle: Grid#2 p2 Nodes=14433 Cells=9522 RMS Err= 4.2e-5

(6) Vector (E) norm on x = 0 zoom(-0.2, -0.2, 0.4, 0.4)

0000 (5)000000000000000D000D000000D000D0O000O0DO0ODO0O0OD EOODO
gobooooon

Glass Block in a Parallel Field 14:13:40 9/8/08
] L ] L ] L L ] FlexPDE 5.1.0
E
02 E onx=0
zoom(-0.2,-0.2,0.4,0.4)
015 E 1.40
t 1.30
1.20
1 r 1.10
ol 1.00
0.90
1 r 0.80
00 1 141 0.70
N ] L 0.60
\h\xi Ji”il 4 0.50
N IR :
EARIMN 030
J S Y rnnanaan i 0.20
-0.05- R R L 0.10
IR i) 4
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I
o] 3 i
| }
015 ok
0.2 YL

exportle: Grid#2 p2 Nodes=14433 Cells=9522 RMS Enr= 4.2¢-3
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(7) Vector(D) norm on x = 0 zoom(-0.2, -0.2, 0.4, 0.4) Report(D_0)

0O0z=0000000000 DOOODOODOOODOOODOOOODOODOOOOOODOOOOOOOO
00000000 09-110000000000000000000000COCC D.0OOO ReportOO
gboooooobooobooobomooooodoooooooooboooooooooooooooogn
gobooobooooOoOoocoOoDOOODmbOOOO0OOOOO0ODOOOOOOOOODOOOODOO

Glass Block in a Parallel Field
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exportle: Grid#2 p2 Nodes=14433 Cells=9522 RMS Eir= 4.2¢-3

D_0= 8.854000e-12
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D

onx=0

zoom(-0.2, -0.2, 0.4, 0.4)

14:13:40 9/8/08
FlexPDE 5.1.0
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Scale = E-11
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